Acceleration due to gravity, g = -9.8 m/s2
First determined by Galileo.


“In the absence of air resistance all objects fall at the same uniform acceleration.”


Consequences:

· Acceleration is always – 9.8 m/s2, g

· Velocity at the top is always zero

· Initial speed up is equal to the final speed down

While standing on the roof of the school you drop a pebble off of the edge of the roof landing on the ground below.  Timing the fall with a stopwatch you record that it takes 1.45 seconds.
a. Draw a motion map, x vs t, v vs t, a vs t graph.

b. How tall is the school?

c. How fast was the pebble moving just before hitting the ground?

Later, you pick up the pebble and toss it upward at 25 m/s.

a. Draw a motion map, x vs t, v vs t, a vs t graph.
b. What height does the pebble reach?

c. How long is the pebble in the air? 
d. How fast is pebble moving when you catch it back on the ground?

